

## Quadratic Equation Questions for for SBI Clerk Pre, IBPS Clerk, RBI Assistant, LIC Assistant Exams.

#### **Quadratic Equation Quiz 16**

Directions: In each of these questions, two equations (I) and (II) are given. You have to solve both the equations and give answer.

| 1. I. $15x^2 - 11x + 2 = 0$<br>II. $10y^2 - 9y + 2 = 0$   |                            |             |
|---|----------------------------|-------------|
| A. if $x > y$<br>E. if $x = y$ or relationship between x and y can't be esta                    | C. if x ≥ y<br>blished     | D. if x < y |
| 2. I. $10x^2 - 7x + 1 = 0$<br>II. $35y^2 - 12y + 1 = 0$   |                            |             |
| A. if $x > y$<br>E. if $x = y$ or relationship between x and y can't be esta                    | C. if x ≥ y<br>blished     | D. if x < y |
| 3. $I. x^2 - 6x = 7$<br>II. $2y^2 + 13y + 15 = 0$   | rtKe                       | eda         |
| A. if $x > y$<br>B. if $x \le y$<br>E. if $x = y$ or relationship between x and y can't be esta | C. if x ≥ y<br>blished     | D. if x < y |
| 4. I. $x^{2} + 9x + 18 = 0$<br>II. $y^{2} - 13y + 40 = 0$                                       |                            |             |
| A. if $x > y$<br>E. if $x = y$ or relationship between x and y can't be esta                    | C. if x ≥ y<br>blished     | D. if x < y |
| 5. I. $14x^2 - 5\sqrt{15x} - 90 = 0$<br>II. $6y^2 + \sqrt{21y} - 21 = 0$                        |                            |             |
| A. if $x > y$<br>E. if $x = y$ or relationship between x and y can't be                         | C. if x ≥ y<br>established | D. if x < y |
| 6. I. $2x^2 - 7x + 6 = 0$<br>II. $y^2 - 5y + 4 = 0$   |                            |             |
| A. if $x > y$<br>E. if $x = y$ or relationship between x and y can't be esta                    | C. if x ≥ y<br>blished     | D. if x < y |
|   |                            |             |

| 7.   | I. x <sup>2</sup> + 5x -<br>II. y <sup>2</sup> + y - 2   |   |                        |          |          |                   |               |        |               |                |   |
|--|--|---|------------------------|----------|----------|-------------------|---------------|--------|---------------|----------------|---|
| A. if x<br>E. if x   | > y<br>≤ y or no relat   | ionship d                                       | B. if x ≤<br>an be est | •        | between  | C. if x and y.    | •             |        | C             | D. if x < y    |   |
| 8. I. $x^{2} + 11x + 30 = 0$<br>II. $y^{2} + 4y + 3 = 0$   |  |   |                        |          |          |                   |               |        |               |                |   |
|  | A. if $x > y$ B. if $x \le y$ C. if $x \ge y$ D. if $x < y$ E. if $x = y$ or relationship between x and y can't be establishedD. if $x < y$  |   |                        |          |          |                   |               |        |               |                |   |
| 9.   | I. 18x <sup>2</sup> + 73<br>II. 30y <sup>2</sup> + 8   |   | _                      |          |          |                   |               |        |               |                |   |
| A. if x<br>E. if x   | > y<br>= y or relation   | ship betv                                       | B. if x ≤<br>ween x ar | -        | be estab | C. if ›<br>lished | ¢≥γ           |        | [             | D. if x < y    |   |
| <b>10.</b> I. $18x^2 - 33x - 40 = 0$ II. $12y^2 + 47y + 45 = 0$ A. if $x > y$ B. if $x \le y$ C. if $x \ge y$ D. if $x < y$ E. if $x = y$ or relationship between x and y can't be established |  |   |                        |          |          |                   |               |        |               |                |   |
| <u>Corre</u>   | ct Answers:  |   |                        |          | 121      |                   | <u>N</u>      |        |               |                | 1 |
|  | B  | <b>2</b><br>C                                   | 3<br>A                 | <b>4</b> | 5<br>E   | <b>6</b><br>E     | <b>7</b><br>E | 8<br>D | <b>9</b><br>E | <b>10</b><br>A |   |
| Explanations:<br>1. I. $15x^2 - 11x + 2 = 0$<br>$15x^2 - 5x - 6x + 2 = 0$<br>5x (3x - 1) - 2 (3x - 1) = 0<br>(3x - 1) (5x - 2) = 0<br>$x = \frac{1}{3}, \frac{2}{5}$                           |  |   |                        |          |          |                   |               |        |               |                |   |
|  | II. $10y^2 - 9y - 10y^2 - 5y - 4$<br>5y (2y - 1) - 2<br>(2y - 1) (5y - 1)<br>$y = \frac{1}{2}, \frac{2}{5}$<br>Therefore, x<br>Hence, option | y + 2 = 0<br>2 (2y - 1)<br>- 2) = 0<br>$\leq y$ | ) = 0                  |          |          |                   |               |        |               |                |   |

2. 
$$1.10x^2 - 7x + 1 = 0$$
  
 $10x^2 - 5x - 2x + 1 = 0$   
 $5x (2x - 1) - 1 (2x - 1) = 0$   
 $x = \frac{1}{5}, \frac{1}{2}$   
II.  $35y^2 - 12y + 1 = 0$   
 $35y^2 - 7y - 5y + 1 = 0$   
 $7y (5y - 1) - 1(5y - 1) = 0$   
 $(7y - 1) (5y - 1) = 0$   
 $y = \frac{1}{7}, \frac{1}{5}$   
Therefore,  $x \ge y$   
Hence, option C is correct.  
3.  $1.x^2 - 6x = 7$   
 $x^2 - 6x - 7 = 0$   
 $x^2 - 7x + x - 7 = 0$   
 $x(x - 7) + 1 (x - 7) = 0$   
 $(x + 1) (x - 7) = 0$   
 $x = -1, 7$   
II.  $2y^2 + 13y + 15 = 0$   
 $2y^2 + 10y + 3y + 15 = 0$   
 $2y^2 + 10y + 3y + 15 = 0$   
 $2y^2 + 10y + 3y + 15 = 0$   
 $2y^2 + 10y + 3y + 15 = 0$   
 $2y^2 + 10y + 3y + 15 = 0$   
 $2y (y + 5) = 3$   
Hence,  $x > y$   
Hence, option A is correct.  
4.  $1.x^2 + 9x + 18 = 0$   
 $x^2 + 6x + 3x + 18 = 0$   
 $x (x + 6) + 3 (x + 6) = 0$   
 $(x + 6) (x + 3) = 0$   
 $x = -6, -3$   
II.  $y^2 - 13y + 40 = 0$   
 $y^2 - 8y - 5y + 40 = 0$   
 $y(y - 8) + (y - 5) = 0$   
 $y = -8, 5$   
Hence,  $x > y$   
Hence, option D is correct.

5. I. 
$$14x^2 - 5\sqrt{15x} - 90 = 0$$
  
 $14x^2 - (12\sqrt{15} - 7\sqrt{15})x - 90 = 0$   
 $14x^2 - 12\sqrt{15x} + 7\sqrt{15x} - 90 = 0$   
 $2x(7x - 6\sqrt{15}) + \sqrt{15}(7x - 6\sqrt{15}) = 0$   
 $(2x + \sqrt{15})(7x - 6\sqrt{15}) = 0$   
 $x = -\frac{\sqrt{15}}{2}, \frac{6\sqrt{15}}{7}$   
II.  $6y^2 + \sqrt{21y} - 21 = 0$   
 $6y^2 + (3\sqrt{21} - 2\sqrt{21})y - 21 = 0$   
 $6y^2 + 3\sqrt{21y} - 2\sqrt{21y} - 21 = 0$   
 $3y(2y + \sqrt{21}) - \sqrt{21}(2y + \sqrt{21}) = 0$   
 $(3y - \sqrt{21})(2y + \sqrt{21}) = 0$   
 $y = \frac{\sqrt{21}}{3}, -\frac{\sqrt{21}}{2}$ 

Hence, no relation can be established.

Hence, option E is correct.

6. Fr

```
From I:

2x^2 - 7x + 6 = 0

2x^2 - 3x - 4x + 6 = 0

x(2x - 3) - 2(2x - 3) = 0

(2x - 3)(x - 2) = 0

x = \frac{3}{2}, 2
```

#### From II:

 $y^{2} - 5y + 4 = 0$   $y^{2} - 4y - y + 4 = 0$  y(y - 4) - 1(y - 4) = 0 (y - 4)(y - 1) = 0y = 4, 1

While comparing the root values of x and y, we find that one root value of y is lies between the values of x. Hence the relationship between x and y can't be established.

Hence, option E is correct.

| 7. | From I:<br>$x^{2} + 5x - 14 = 0$<br>$x^{2} - 2x + 7x - 14 = 0$<br>x(x - 2) + 7(x - 2) = 0<br>(x - 2)(x + 7) = 0<br>x = 2, -7  |
|----|---|
|    | From II:<br>$y^2 + y - 20 = 0$<br>$y^2 + 5y - 4y - 20 = 0$<br>y(y + 5) - 4(y + 5) = 0<br>(y + 5)(y - 4) = 0<br>y = -5, 4  |
|    | While comparing the root values of x and y, we find that one root value of y is lies between the values of x. Hence the relationship between x and y can't be established.<br>Hence, option E is correct. |
| 8. | From I:<br>$x^{2} + 11x + 30 = 0$<br>$x^{2} + 6x + 5x + 30 = 0$<br>x(x + 6) + 5(x + 6) = 0<br>(x + 6)(x + 5) = 0<br>x = -6, -5  |
|    | From II:<br>$y^2 + 4y + 3 = 0$<br>$y^2 + 3y + y + 3 = 0$<br>y(y + 3) + 1(y + 3) = 0<br>(y + 3)(y + 1) = 0<br>y = -3, -1   |
|    | While comparing the root values of x and y, we find that root values of x is less than the values of y.<br>Hence x < y.   |
|    | Hence, option D is correct.   |
|    | For more PDFs join<br>us on Telegram  |
|    | SBI   RBI   IBPS   RRB   SSC   NIACL   EPFO   UGC NET   LIC   RAILWAY   CLAT   RJS  |

From I:  $18x^2 + 73x + 35 = 0$   $18x^2 + 63x + 10x + 35 = 0$  9x(2x + 7) + 5(2x + 7) = 0 (2x + 7)(9x + 5) = 0 $x = -\frac{7}{2}, -\frac{5}{9}$ 

#### From II:

9.

 $30y^{2} + 89y + 63 = 0$   $30y^{2} + 35y + 54y + 63 = 0$  5y(6y + 7) + 9(6y + 7) = 0 (6y + 7)(5y + 9) = 0 $y = -\frac{7}{6}, -\frac{9}{5}$ 

While comparing the root values of x and y, we find that one root value of y is lies between the values of x. Hence the relationship between x and y can't be established.

Hence, option E is correct.

10. From I:

```
18x^{2} - 33x - 40 = 0

18x^{2} - 48x + 15x - 40 = 0

6x(3x - 8) + 5(3x - 8) = 0

(3x - 8)(6x + 5) = 0

x = \frac{8}{3}, -\frac{5}{6}
```

#### From II:

```
12y^{2} + 47y + 45 = 0

12y^{2} + 27y + 20y + 45 = 0

3y(4y + 9) + 5(4y + 9) = 0

(4y + 9)(3y + 5) = 0

y = -\frac{9}{4}, -\frac{5}{3}
```

While comparing the root values of x and y, we find that root values of y are less than the values of x. Hence x > y.

Hence, option A is correct.

### For more PDFs join us on Telegram



SBI | RBI | IBPS | RRB | SSC | NIACL | EPFO | UGC NET | LIC | RAILWAY | CLAT | RJS

# - SmartKeeda The Question Bank

